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Sketch the graph on the grid provided above. You must provide a scale for the axes & plot all points from Qhrt [a]liv] above.

Consider the graph of the polar equation » =5+ 3cosf .
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Sketch the graph on the grid provided above.
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Consider the graph of the polar equation » =1+ 2¢c0s26 . SCORE: /14 PTS

Using the tests and shortcuts shown in lecture, determine if the graph is symmetric over the polar axis, & = % and/or the pole.
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Summarize your conclusions in the table on the right. NOTE: Run as FEW tests as needed to prove your conclusions are correct,
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Based on the results of part [a], what is the minimum interval of the graph you need to plot (before using reflections to draw the rest of

. the graph) ?
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Find the value of # for all common values of @ in the interval from part [b].
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You must provide a scale for the polar axis & plot all points from part [c] above.

[d] Sketch the graph on the grid provided below.
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